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and the accumulation of o metabolic emd i
a. Name the metabolic end product thal b

metabolic pathwayis) tha prodice s
metabolic Litets) ol this cind |=uu|l|tl'.' Flos Bave thia el product

amuount in this case?
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b, Write the relerence/nonmil o
Comment on the acid base stotus and s compensation, 11 any 1 the patient with
Justilication.
following (the aspeets 1o be addressed are piven in hracketh

2. Write short notes on the
( 4 2.5=10)

a. Active transport across plasma membrane (detinition, wiite fwo climactenstics and
cite an example).
ins (list four nanes of different secondary structanes anad

b. Sccondary structures ol prote
cal bond(s) responsible for the formation these stuciiresy

name the chemi
lnition, twe examples and mechanism o

¢. Uncouplers of oxidative phosphory lation (de
action).

d. Dictary fibre: (Delinition, example ol one coluble and ong msoluble dietan e, O

therapeutic indication and one therapeutic compndication)
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Companre and vontras (2x
Prabetic Ketosis amd stars atlon hetost®
FHepatie porphin i and ey thiopoitie porphiviia

(4x2.5=10)

Explain why lvow;
I‘Ih'li}ll‘ui‘h‘tlll?l.l (s e datead with I popipmentation of skin
Panients witly pdag losemia e ‘““'LII“th 0 'lﬁrl'llh g
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Phisticdine load test (1 101 LT exeretion) is positive in folic acid deliciency.

SECTION (S0 marks)

answer the
(3334 0=1)

AT okl boy antended o Pty health centre with weakness and lethargy. e was

HIEH Th RTINS Bven treatiment Loy |-'||'1i.‘ Worm I]|II| UI.I.I '"-““ "I"-II"P:' liar fw ks, Tis andeni did

nt

mprove. A blood smea examinahion tled out megaloblastic anaemia bul shuwed

features sugpestive of Clinopie haemolytic maemia, Ths other blood imvestigation report

wais as given blow:

He

o Nerum fertitin level: high
o Nerum transterrm level low
o Transternn saturation: very high

Lotal iron inding capacity (T1BC): Tow

Serum haptoglobin level: very low,
was treated with blood transfusion, iron chelating agent and was advised to take folic

acid tablet regularly with significant improvement.

i,

¢

d.

Name an enzymatic defect of carbohydrate metabolism that cu:f:ﬁ:‘h_bgc_nmlytic
anaemia Explain how this defect egds (o anaemia, S
Comment on iron status of the patient and justify your answer [rom the above
investigation report.

Write the Tunction of serum haptoglobin, Why was its level so low in this case?
Although megaloblastic anaemin was ruled out, why was the patient advised 1o 1ake
folie acid? Name another vitamin the deficiency of which can cause magaloblastic
anaemia.
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SECTION A (50 nyypi.q
1.

—Tirky)
Study the clinical fe

follon ! atures of the case thar j narrated below and answer the
VHOWIng questions related to the case:

(4+2+4=10)
A 3months old male had repeated episodes of tetany apd low serum parathyroid hormone
(PTI) level. He had multiple congenital defects of body parts that develop from 3 and
th , P . ) ! l ' 1
4% phacyngeal pouches. e had repeated viral and fupgal infections since birth, His
thymus was hypoplastic. There was de

pletion of T-cells in lymph nodes. Serum
immunoglobulin level was normal.

a. What is the most likely diagnosis in this condition? Justify your answer,

b. How can low PT} level explained in this condition?

c. Comment on B-cell function in this case. Name o primary immunodeficiency disease

in which both cellular and humoral immune functions are impaired.

2. Write short notes on the following (the aspects to be addressed are given in bracket):

(2Ix 5=10)
a. Free radicles (definition, list two free radicles generated by Immunocytes, write two
physiological functions and 1wo pathological effects of free radicles, depict how
vitamin C can neutralise free radicles).
b. Obesity (Definition, two causes, two complications and its biochemical basis, two

interventions used to treat obesity and their biochemical basis. )

Scanned by CamScanner



.

¢t o \ /
'a L hl '..1 “’
Sy , F a=
@3- - L (PAEE b

i gt e “11'“:
L i TETRL ili,:{'iwz'l ||l-||i. "
eiptwri

A With the help of a Mowchart deserilg the ™
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stepcan be inhibited by methanol —
J . wphoge iner

i

. RS
. Deaw a labelled lapgram tiv slinw |n-uf” n
i that dipgeram

presenting antigen bnbicate MHC resiriet™”

| vS5=11h
4. Compare aml conlrase: :
4. Metabolic acidosis and FESPIrAtOry ge; gosis
b. IL:mnng ard non-lonizing rdintions.
(4x2.5=10)

5. Faplain why/how:

' ' = = ot '.1.‘I'.
. b . . ) S Y |}=|Il1.|'||l..i'.'l| nouralosici?
d_ Slow acervlators frequent]y duwlup |_“_-|.n1.uu1!- (NI

b.

Repular intake of dictary fibre can prevent gallstone lormation,
- " ey [oowd
¢ Body temperature and sweating increases during consumption of non-vey !

d.j Subjects with null or inactive €')72,46 plleles are less prone for developing tobacco-
il —me—

dependence.

SECTION B (50 marks)

6. Study the clinical features of the case that is narrated below and answer the
following questions related to the case: (3+3+2+2=10)

A 48 yr old female patient became obese and lethargic for last 6months. Her voice
became coagse. Skin became rough and dry. Her ankle jerk was delayed. Her thyroid
function test report was as shown below:
o Serum free T4: low
* Serum free I3: low ¢,
e Serum TSH: very low
e — :
il ; ] ' 4
¢ Serum Q&c;!_:._s_gr_n!. high
a. Comment on her thyroid function status with justification.
b. Canit be a case of primary hypothyroidism? Recommend a thyroid function test that
can confirm where lies the defect (hypothalamus, pituitary or thyroid gland).
¢. Explain the biochemical basis of hypercholesterolemia in this case.

d. What is the cause of q;t_cgil}' and lethargy in this case?
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7. Write sh Y On the Foligy, — addressed are given in

i S
|:ru|:h"15}= LRLLT! Bapeets 10 he

4. Non -functional enzymes of
examples). the Masmy (gefin!

b. ,-xmh:u-.id;lm vitlamins gng -
activity ).
8.
a. Draw a flowchart to ¢

ray falls on retina,
b. Draw a labelled diagram of Lineweaver Burk plot s|

in compelilive and non-competitive enzyme inhibition:

9,  Compare and contrast:
a. Hyponatremia and hypokalaemia

b. Trace elements and ultratrace elements

10. Explain why/how:
a.  Warferin treatment elevates prothrombin time.

||"_ . " " . r—-_-
@ I'hiamin deficie cads tofheart fu_11_urc.

‘1eney |
_______r

jon. Jdiggnostic S1pN

Mamj ond mechanism
\ Ih.’l]"l1|n_-.i, l'—'?iil.'l'l'i'["ll:h .il'l!.l

Xplain/ deseribe the I Fcrpgiuriml

(2 25=11)

ificance with five
of their antioxidant
(2x5=11))

ion ol rod cells when light

Jowing change in Kom and Vmax

(2x5=10)

(4 x 2.5=10)

¢. Vesopressin increases water absorption from collecting duct.
——

d. Renal failure leads to osteadvstrophy.

_____________________
L1 T e p————— R L S

--------------------------------
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